Model Question Paper 4

PAPER -02 Subject: Second Language English.

Sub code: 31E Max Marks: 40
Four choices are given for each of the questions/incomplete statements. Choose the correct answer
and shade the correct choice in the OMR given to you with blue/black ball point pen.

40x1=40
41. Practice well, you will do better next time.
The language function for the above statement is
A. request B. order C. obey D. advice
42. The word which collocates with ‘sweet’ is
A. growth B. memory C. design D. colour
43. The word which has one syllable is
A. friend B. return C. couple D. knowledge
44. Sheela helped the old man. The passive form of the above sentence is
A. The old man was being helped by Sheela. B. The old man was helped by Sheela.
C. The old man is helped by Sheela. D. The old man had been helped by Sheela.
45. Sitara will a stage show tomorrow.
The appropriate tense form of the verb to be used is
A. perform B. performs C. performed D. performing
46. The appropriate prefix to form the opposite of ‘polite’ is
A. non B. un C. dis D.im
47. Health is wealth. The part of speech of the underlined word is a/an
A. adverb B. verb C. noun D. adjective
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48. The chemist could not what the doctor had written.
The correct phrasal verb to be used here is

A. make up B. make in C. make over D. make out

49. Science is more interesting than any other subject.
The superlative form of the above sentence is

A. No other subject is as interesting as Science.

B. Science is the most interesting subject.

C. All other subjects are not as interesting as Science.

D. Science is more interesting subject.

50. If I had been the captain of the team, | chosen to bat first. The
correct words to be used here to complete the ‘if’ clause sentence are

A. couldn’t have B. would have C. should have D. shouldn’t have

51. Malathi is plucking mangoes, ?
The question tag to be used here is

A.is she B. did she C. isn’t she D. does she

52. John is European. He is working as doctor in India.
The articles to be used here are

A.a,a B. an, the C. a, the D. the, a

53. The broken chair can be fixed glue.
The preposition to be used here is

A. in B. to C. for D. with

54. 1 am tired, | cannot play.
The conjunction to be used here is

A. but B. yet C.or D. so

55. When he about the great musician’s concert, he immediately booked a ticket online.
The correct form of the word to be used is

A. heard B. hear C. hearing D. hears



56. This step is not a part of informal letter

A. date B. subscription C. subject D. salutation

57. Usually Swami slept beside
A. his mother B. his brother C. his father D. his granny

58. The Police Inspector suggested him to

A. be a cricketer B. join the police C. be an engine driver D. be a bus conductor

59. The interesting news that drew Swami’s father’s attention was
A. five burglars were arrested B. a girl met with an accident

C. the bravery of a village lad who fought with a tiger D. a burglar was caught by a little boy.

60. The only person who helped Baleshwar was a

A. tempo truck driver B. railway employee C. doctor D. traffic policeman

61. Baleshwar had a good memory. The line which suggests this statement is
A. he memorized Dinesh’s cell phone number. B. he remembered the nearest hospital C

C. he brought Roma to the hospital D. he knew Roma’s address

62. “I sold them the property because | know they were good people. This was said by

A. Narrator B. Don Anselmo C. Surveyor D. Senator Catron

63. According to Don Anselmo the trees belonged to

A. himself B. the story teller C. the children of Rio-en-medio D. his ancestors

64. Don Anselmo took the possession of the house from his

A. father B. descendants C. ancestors D. mother

65. To achieve social justice, Dr. Ambedkar stressed the importance of

A. non violence B. constitutional methods C. agitation D. Satyagraha
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66. Mahatma Gandhi reminded the higher castes of their duty towards the

A. the society B. depressed classes C. British government D. higher class

67. The frightening truth known to Smita was
A. she could not take her brother to the concert B. the doctors have given up hopes

C. Anant could not continue Sitar classes D. her brother Anant was going to die of cancer

68. “You know he needs all the sleep and rest he can get”. This was said by

A. Smita B. Aunt Sushila C. Smitha’s mother D. doctor

69. Satish was inspired by
A. books B. his brother C. a bird D. his father

70. Satish discovered another pastime. It was

A. reading B. singing C. writing D. drawing

71. The poet calls his grandmother

A. a genius B. a brave woman C. granny D. grandmother

72. The doctor after examining grandma, said
A. she should be admitted in the hospital B. she can climb trees after a week

C. she should rest for a week D. she can go around the garden

73. The quality

The appropriate option to complete this line of the poem is
A. that gives, and him that takes. B. of mercy is not strain’d;

C. in the heart of kings; D. force of temporal power,

74. The quality of Mercy is blessed by
A. the giver B. the taker C. both the giver and the taker D. none of them

75. The poet is querulous because he
A. has no song to sing about mother India. B. he had a nightmare

C. doesn’t know the country’s destiny D. heis helpless



76. “Sing of the wrinkled face’. Here ‘wrinkled face’ refers to

A. the poet B. old and helpless people C. mother of India D. sick people
77. The Jazz playeris a figure.

A. handsome B. joyful C. pathetic D. great

78. You talk

The appropriate option to complete this line of the poem is
A. of wonderous things you see, B. with patience | can bear

C. is that thing call’d light, D. what | cannot have

79. The police expected the students
A. to shout slogans and cause violence B. to follow satyagraha

C. march silently D. fight against the Bristish

80. After the death of Haneef, his family under Haneef Foundation has started a

A. music academy B. Hospital C. orphanage D. school

Click here for Key Answers
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https://youtu.be/xjgVFgHYejM

